P 2L d https://lwww.pass2lead.com/ex0-118.html
ass ea 2023 Latest pass2lead EX0-118 PDF and VCE dumps Download

https://Pass2Lead.com

EX0-1189%As

Green IT Foundation

Pass EXIN EX0-118 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.pass2lead.com/ex0-118.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by EXIN
Official Exam Center

After Purchase

Guarantee

Free Update SKTISFACTION GUARANTEEp
Satisfied Customers

Q00O

EX0-118 VCE Dumps | EX0-118 Practice Test | EX0-118 Exam Questions 1/6


https://www.pass2lead.com/ex0-118.html
https://www.pass2lead.com/ex0-118.html
https://www.pass2lead.com/ex0-118.html

P 2L d https://lwww.pass2lead.com/ex0-118.html
aSS ea 2023 Latest pass2lead EX0-118 PDF and VCE dumps Download

—— https://Pass2Lead.com

QUESTION 1

Which of the following is a goal of the WEEE directive?

A. To remove hazardous chemical from electrical products.

B. To increase the raw materials used in electrical products.
C. To provide clear labelling on all electrical products.

D. To reduce the manufacturing of new electrical products.

Correct Answer: D

QUESTION 2

How can purchasing equipment made from recycled materials help with a Green IT programme?
A. Non-recyclable materials are often hazardous and so are difficult to dispose of.

B. Non-recyclable materials cost more to produce making the equipment more expensive.

C. Non-recyclable materials use up more water, energy and minerals than recyclable.

D. Non-recyclable materials degrade faster and need to be replaced more often.

Correct Answer: A

QUESTION 3

Which of the following could increase carbon emissions when introducing home- working to an organisation?
A. Engineers need to travel to support IT equipment.

B. Home-workers make more use of video conferencing.

C. Existing equipment is re-used at the home site.

D. Home-workers are more likely to take coffee breaks.

Correct Answer: A

QUESTION 4
Which of the following is one of the three market-based tools created by the Kyoto Protocol?
A. Carbon credit initiative.

B. Emissions trading.
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C. Footprint reduction fund.
D. Carbon neutral implementation.

Correct Answer: B

QUESTION 5

Which of the following is a business benefit of using thin clients?
A. Reduced data storage needs.

B. Reduced maintenance costs.

C. Reduced PC downtime.

D. Reduced data duplication.

Correct Answer: B

QUESTION 6

What is an Emission Reduction Unit?

A. A measure of carbon dioxide equivalent.

B. A device attached to a power supply.

C. A token used to reward staff for energy savings.
D. An energy management server.

Correct Answer: A

QUESTION 7

Which of the following will reduce paper consumption?
A. Setting printers to duplex printing.

B. Setting printers to colour printing.

C. Setting printers to high quality printing.

D. Setting printers to draft printing.

Correct Answer: A

QUESTION 8
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Which element of Triple Bottom Line accounting is concerned with ecological issues?
A. Planet.

B. Pollution.

C. Plants.

D. Profit.

Correct Answer: A

QUESTION 9

Which of the following is NOT an economic benefit of implementing Green IT?
A. Improved return on IT investment.

B. Lower energy costs.

C. Reduced travel expenses.

D. Reduced staff wages.

Correct Answer: D

QUESTION 10

What action can you take to reduce the power consumption of your data centre?
A. Shut down servers out of business hours.

B. Replace small servers with larger ones.

C. Reallocate under-used servers to run active services.

D. Upgrade servers to always run the latest software.

Correct Answer: C

QUESTION 11

Which of the following activities form part of a Green IT initiative? a) Re-using existing computer
equipment.

b) Recycling old computer equipment.

¢) Reducing legacy computer equipment.

d) Removing expensive computer equipment.
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A. b and d only.
B. a, b, candd.
C. aand d only.
D. a, b and c only.

Correct Answer: D

QUESTION 12

You are greening your data centre. Which of the following is an initiative that should complement your project?
A. The Product Design Strategy.

B. The Sustainable Building Strategy.

C. The New Building Strategy.

D. The Carbon Offsetting Strategy.

Correct Answer: B

QUESTION 13

Which of the following can form part of a definition of Green IT?
a.

Reducing the carbon footprint of IT operations.

b.

Using IT operations to offset emissions elsewhere.
C.

Ensuring the sustainability of resources used by IT.
d.

Using IT to reduce an organisation carbon footprint.
A.

a,bandc.

B.

a, candd.

C.
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b and c.
D.
b, c and d.

Correct Answer: B

QUESTION 14

What does Carbon Energy Accounting measure in an organisation?

A. The entire amount of energy used by the organisation.

B. The entire cost of supplying energy to the organisation.

C. The entire financial profit of adopting a Green IT strategy in the organisation.
D. The entire amount of CO2 produced by the organisation.

Correct Answer: A

QUESTION 15

Which of the following describes embodied energy?

A. The total amount of energy involved in manufacture of a product lifecycle.
B. The total amount of energy involved in operating a data centre.

C. The total amount of energy involved in heating an office building.

D. The total amount of energy involved in creating a carbon footprint.

Correct Answer: A
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